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but the same medium should be used throughout the
paper.
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Attempt Three questions in all, selecting one question
from Part A and fwo questions from Part B.
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1. In the light of the experience of the developed countries,
bring out the distinctive features of Modermn Economic
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growth. What are the difficulties encountered in the

definition and measurement of MEG 7 12
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In the light of the historical experience of Germany, Russia
and Jape}n examine how the development of a backward
economy, may, by the very virtue of its backwardness,
tend to differ fundamentally from that of an advanced

country‘? 12
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Do you agree that agriculture played a crucial role in the

economic development of Britain and Japan ? 12
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Part B
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Examiné the differences in the structure of agriculfure in
USSR and Japan. How far did the collectivisation of
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agriculture solve the problem of the marketable surplus
of grain in the USSR ? 13
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How far do you agree with the view that both Britain
and USSR had very little in common as far as the problems
faced and solutions found for promoting Industrialisation
in their respective countries ? 13
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What were the factors instrumental for the growth and
development of capitalism in USA? ' 13

mﬂwﬁi@ﬂaﬁaﬁqﬁﬁnﬁmémﬁtﬂm
FHE H1 4?

Do you agree that foreign trade played a crucial role in

the economic development of Britain and USA ? 13
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(4) |
“The more backward an economy the greater is/the role
played by the State.” Examine this statement in the light
of the historical jexperience of Japan and USSR. 13
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Write short notés on any two of the following : 13
(@) Sparkarssen

(b) New Economic Policy in USSR

(c) Changes in the Industrial relations system in Britain.
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